37.5'MAX.OVERALL Feo
FRAME WIDTH 5535

POWERED Bvlg
1l

ENDURA

DOOR COMPONENTS MADE IN THE USA 33\)\3/ O%

4 ’6:.( P ~'~;3
we >4

TEXAS P.E. #104123

Lyndon F. Schmidt, P'E.

SIS B
Rl

Z\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD!} - DR-851 Plastpro FG Opaque (LK,DBI\C - Drawings\TX-4645.48.dwg

Opaque Fiberglass Door

"NON-IMPACT"

=~ £
2 =
= 5 )
INSWING / OUTSWING 2 o g5
= = n=
5 O W
2 2| 55
wl =
: 3 & |5 EH
= & S |2
< 3 [}
S S ' |4
% 5 i =
< o
: & X e
2 o g s
5 o
EVALUATED FOR USE IN THE STATE OF TEXAS TD ' D R - 8 5 1
The Fiberglass Door system described herein complies with the 2018 intemational §
Residential Code (IRC), Sections R301 & Ré09 and the 2018 Intemational Building O
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following | Q
conditions: S o

1. Anchors shall be as listed and spaced as shown in the details. Anchor e 5
embedment to base material shall be beyond wall dressing or stucco. g (2]

2. When used in areas requiring wind-bome debris protection this product is 1 N é-
required fo be protected with an impact resistant covering that complies e
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC. j

3. Allowable design pressure requirements must be equal fo or less than the é
design pressure rating shown in the design pressure chart, sheet 1 of this )

4. drawing. 5
Conditions not covered by this drawing are subject to further engineering = E
analysis. NS

LE OF CONIE -
TABLEO TS X INSWING +45.0 45.0 oatE: 11/02/16
SHEET# | DESCRIPTION NS
1 Typical elevations, design pressures & general notes X OUTSWING +40.0 -40.0 =
2 Door panel details owe. Bv:  JK
3 Horizontal & verfical cross sections cik. B:  LFS
4 Vertical cross sections DRAWING NO.:
5 Frame anchoring TX—4648
SHEET _] oF _5

BUILDING CONSULTANTS, INC.

P.O. Box 230 Valrico FL. 33595
Phone No.: 813,659.9197

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

© 2016 R.W. BUILDING CONSULTANTS INC.



‘ONI SANVLINSNGOO BNIQHNE "M'¥ 9102 )]

ZSBLL—d # NOLWVMISIONM 40 IUVOLILLNID 5 SNOISIAZY
SUIIANIONT TYNOISSIJ0Nd 40 Quvos Svxal J1vd JONjw
il I 0
L816°659°C 1@ ON Sudkd SVL30 TNvd 500d S471| 3000 o¥l/08l 810z oL Avadnliz/Li/Li] | [N |X 2 2 _
e ! f— -3 ©l5
GESEC "4 OOMDA OCZ X08 °O'd \S“g ATENASSY d0 lavd pa] B -
"ONI ‘SINVLINSNOD ONIGNNg V Z . e V_A 2_
= .
STLYOLF '3I'd SWAL V4NAan3 FIE w w £ &
e IPIUYSS 4 uopudn Ag pedndeud sjuswinoog 10NAa0Nd b3 M W w w %
[+
o
os
| YK
& : =
:N _' { m
| 5
e = ) Y
- V». L 4 < - Ve . s DY o 3 4 “
77 » al ee . 4..‘ MA . oy
.».. . ; | . v» 5 " % . " v, g .. da ..4 4.4 Lo v mO m
.v. rV R V; l” I”d ) .. 1‘ S 44 ..”4: ~N o
- A L . [ AR IR QA v v oo ol - C
\ w/ &2
|
02 o
8z » S S
<2 S =~ y
) i < <
e} Z Q = ooy
T 0O o
m =
o) Q
a L
« z
\(
b -t 2
» Q
oy
j W\
R Ll
AN =
o oy
o)
—
C 5
oo
e &
- Ll
T ] s _
g /& 3
- oL
o [oR=}
zx
i
o —
SRR 5 =
Y/, z
¥/ =
o o 9
o Of w
e v a
o 5 8
5 = &
[ |
ac
2
P Z
e L
A | g
~t —
< » I
= = = a. @ = <€
| EF PN > 5285 29
g 1 QBS Sy
AR 8% @ = Q88 =¥
= S m
= ﬁ ® 2k
* -] . ,n\\m Wu VAlu.n
| 7 2%
W
. —
- S K
W |+|I < IHOBEH TNV XYW .8T°66 © W
S © 33
[aR®)

Bmp gy syop-X L\sBuimesd - D\ga’) snbedo o4 oidiseld 158-UQ - 1QL\sul Jo 3daq sexal - \LNINVINYId BINPUI\SIURD\Z



Z\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-851 Plastpro FG Opaque (LK.DB)\C - Drawings\TX-4645.48.dwg

EXT. SHEATHING \ |

2X FRAMING
> (G>=0.42)
I~

/ DRYWALL

1/4" MAX.

SHIMSPACE  ~__ [tlL"

b #10x2.5 PFH
1 WOoOD SCRew

C'SINK
(TYP.)

in
o

DOOR PANEL —\

\— HEAD

-

ENDURA WEATHERSTRIP
(QEBD/PE 650)
EXTERIOR W INTERIOR
/ 2"\ VERTICAL CROSS SECTION

\3/ Outswing shown - inswing also approved

1/4' MAX. 015"
SHIM SPACE SN
EXT. SHEATHING (TYP.)
2X FRAMING ==

(G >=0.42) \

L, JAMB

#10 X 2.5" PFH WOOD SCREW
—

ENDURA WEATHERSTRIP

(QEBD/PE 650)

N

DRYWALL / /
#8 X 2.5 PFH WOOD SCREW

#8 X 3/4" PFH SMS

\— #8 X 1" PFH SMS

4" HINGE

|
1 o DEADBOLT: KWIKSET SIGNATURE SERIES
3 | ol™ (980/985)
N/ X | LATCH: KWIKSET SIGNATURE SERIES
(991)
|
¢ | CORNERPADS VP

(N3N (N2

NI ARV Y

EXTERIOR

INTERIOR

#10 X 2.5" PFH WOOD SCREW N\

ENDURA WEATHERSTRIP

0.15"
C'SINK —»=
{TYP.)

Q.

111
A

o~
<G

-\'_‘k,,\,b‘i»\,k),
oF TE
yhowe
.
' '..
g
e o 7 .’«
- *
3 - *
.
.
.»»ﬂ"" by
.
aret? UL
pune?
YA 2
.
a2r® -
:
$
:

%

o
o,

JAMB ™\

(QEBD/PE 650)

R SO SR AR SV, R

1/4" MAX.
| SHIM SPAiE EXT. SHEATHING

RO UM RO I

A\

== 2X FRAMING
/ (G >=0.42)

/" 1"\ HORIZONTAL CROSS SECTION

w Inswing shown - Qutswing also approved

\‘ #8 X 2-1/2"PFH WS

\—‘ DRYWALL

LATCH STRIKE PLATE

uj
]
22, Ea
£* 3 4@
ou g8 el
w [+ = N bk
P -
c 2
I+ go"! gz
k: 22 55
3 FEE8 GE
> Jg0 0
23w QE
-2
. 88° B
5‘ ONg ]
L) g’éz um
g §mg Sl
a =ag606 O
' 3ai 2f
o 05
o
:
3 E
PR 8
S [
[3]
[+]
[#]
=S
O
=
wo
< >
& oy B
> | %)
e
I - =
(] S (@]
&
2 E()
o x| &
g |E
o a
o>
Lim
L
o)
o
o
O
&
S |»
8| |z
(o]
] B 7))
sl 2
& é.
o
iz
S
a
3
~
NE
e
NS
o
Z
DATE: 11,/02/16
scate:  N,T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4648

SHEET 3 oF 5

© 2016 R.W. BUILDING CONSLLTANTS IND.



Z:\Clients\Endura PERMANENT\B - Texas Dept of ins\TD! - DR-851 Plastpro FG Opaque (LK,DB\C - Drawings\TX-4645.48.dwg

A\ \ S0y, o,
INTERIOR EXTERIOR INTERIOR EXTERIOR e byl eq
DOOR PANEL ENDURA “"cf 2imen 4 d88 . g
v DOOR PANEL WEATHERSTRIP o OR ~ DOOR PANEL LA SN Y -
ENDURA \ (QEBD/PE 650} EXIERIOR ENDURA OTINRTER U ) ¢fu ¢B 87
51 — 45 i—3 R 3 : =
DOOR SWEEP ENDUR WEATHERSTRIp,  INTERIOR EXTERORE A, 1535 BiQZI N5y 428 Sa
(DBK-R) DOOR SWEEP st 1212 Sia%)N sé £ea 22
(DBK-ZAC) (QEBD/PE 650) Gon 191 NGR N EF ELB 00
\ TSR R POAS) 584 i
BIZ G e 2 1S g2
‘(31‘)—&:;;:5 o om® 9B
Py et & O%: &l
o e 52 u
® Zd, Ob
8 3 66 8
g aes 2k
2 L§ nE
§ ég
E &K g8
g
#10 X 2.5 PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR 2
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW ~ 1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW 1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW 1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW S
O
/1" VERTICAL CROSS SECTION /"2 VERTICAL CROSS SECTION /"3 VERTICAL CROSS SECTION /i\ ‘é"’f"-“s‘ CRcT)hss gsgnon . 5
i i Inswing Articulating Threshold Outswing Bump Threshold utswing Bump Thresho %)
W Inswing Adjustable Threshold W nswing Arficulating Thre; W g p U s 51 8
= ol X
ta = o
ol =
. 23
-k
I 8 E
- oz <
0 0. o
@
. [ 1 £
| 456" | ' 4.56° ! | 456" t | 4.56' | | 456' ! W
@ INSWING ADJUSTABLE THRESHOLD 2"} INSWING ADJUSTABLE THRESHOLD 3 ) INSWING ADJUSTABLE THRESHOLD 2 )| INSWING ADJUSTABLE THRESHOLD 5 ) INSWING ADJUSTABLE THRESHOLD 8
ZAIL4565 ZAI4565FN ZAILAA4S65 ZAIAA4565FN LAI4565RDS f&)
MAX. DESIGN PRESSURE = +40 PSF | N o
@l |2
o |3
S
N 2
ij =
| .. | . | | | | g
e 4.56 ! 456" 4.56 - 4.56" ! , 456" | 3
2 INSWING ARTICULATING THRESHOLD 7\ INSWING ARTICULATING THRESHOLD g \INSWING ARTICULATING THRESHOLD o) INSWING ARTICULATING THRESHOLD 10)INSWING ARTICULATING THRESHOLD NE
IACL4565 ZACA565FN IACLAA4565 IACAA4565FN IACA4565RDS Ez
{0
| MAX. DESIGN PRESSURE = £35 PSF | =
-|O
&2 | Qf% =z
v @%\ M 5 g 0 oate: 11,/02/16
N = e ScAE:  N.T.S.
gj 1| i owe. BY:  JK
CHK. BY: LFS
4.56" ! | 456" ! | ,! | S
17) QUISWING THRESHOLD 12 ) QUISWING THRESHOLD 13 QUISWING THRESHOLD 14) QUISWING THRESHOLD TX—4648
ZOB4565FN ZOBL4565 FOB4566 A 5

@ 2016 R.W. BUILDING DONSULTANTS INC.



Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-851 Plastpro FG Opaque (LK,DB\C - Drawings\TX-4645.48.dwg

FLOOR SUBSTRATE MATERIAL (TYP.)
CONCRETE (MIN. 3000 PS|)
WOOD (G >=0.42)

=, o
gox
03
~t Ie)
A
T ] SEE HINGE
DETAIL 1
T
S
¢ 1
2 32
\
&
>
| SEE HINGE
@3 DETAIL 2
A q
EB
HINGE JAMB
CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the corners may be adjusted to maintain the min.

edge distance to mortar joints.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

#10X 2.5" PFH
WOOD SCREW
{TYP. @ HEAD

AND JAMBS)

FRAME ANCHORING

TMIN.

W

TAPCO~® ] /4" ] -3/4|' 4"
DeWALT - - - -
ULTRACON£| 1/ 1-3/4 1 4

X

#8X 1"PFH wsé

2X framing {by others)

22" MAX.
0.C. (TYP)

SEE STRIKE A .

PLATE DETAIL

PR R LR
G

54.19" FROM
TOP
OF DOOR PANEL

-
5.5" — ‘:::

#10 X 2.5" PFH WOOD SCREW
1/4" X 2-3/4" DeWALT OR
ITW CONCRETE SCREW

(TYP @ SILL)

STRIKE JAMB

0 °h°

% #8 X 2-1/2"PFH WS

= #8 X 3/4" PFH WS
— 4" X 4" HINGE

HINGE DETAIL 1

DEADBOLT SECURITY
STRIKE PLATE

LATCH STRIKE
PLATE

STRIKE PLATE DETAIL

| #8X2-1/2' PRH WS
o Il @
" —® -
#EXT'PRHWS <0 Tl SJF=p= #8 X 3/4" PFH W5
— 4'X 4" HINGE
\
W
HINGE DETAIL 2

ui
T
£, fd
g* 8 2T
0 i g."q’ ey
h_.n. = ~ Eh.
.go -
c -
G ] 32
K 22 8o
=0 hE
> 5’00.
a~" é
§8° ob
& 088, o
9 o
k-] CEZ
e gm, Sk
[ +] [ -4
a g6 2
o 5Q¢ B
£ o gé
@ S o
t
o
E o
=1
Q
[+]
[a
o
=
S
& X
> s 9
Q g =
= o <
o =l o
R
Q&
5 |3 "
3 o
el |E
o o
>—.
L%
W
o
S
3
©
&
S |»
o |Z
[®]
D |
5| 2
S @
o
e
iz
o
a
=
N
N
ha 1=
i 5= 8
=
o
Z
DaTE: 11/02/16
ScALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4648

SHEET _ 5 oF _5

@ 2016 R.W. BUILDING CONSULTANTS ING.



